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Instructions
For the following questions answer them individually

Quesnonﬁ

Question 1 ,«-’\\
\
Five jumbled up sentences, related to a topié:aregiven Helow Four of them can be put together to form a coherent paragraph. Identify
the odd one out and key in the number of the séntehce \ryour answer:

Ny
1. You can observe the truth of this in every e-business mode‘l Fever constructed: monopolise and protect data.
2. Economists and technologists believe tha}g new kind of capitalism is being created - different from industrial capitalism as was
merchant capitalism. £/
3. In 1962, Kenneth Arrow, the guru of mflﬁstream econgmics, said that in a free market economy the purpose of inventing things is to
create intellectual property rights. W'\ /'
4. There is, alongside the world of monopéh\ed lnforrgatlon and surveillance, a different dynamic growing up: information as a social
good, incapable of being owned or exploited orpriced.

5. Yet information is abundant. Information goods are freely replicable. Once a thing is made, it can be copied and pasted infinitely.

Answer:2 [ / f“-\ .

W/

& -
Explanation: '\ {
We notice that Statemem (3) serves as an introduction by touching upon the topic of intellectual property rights. Statement (2) continues
along this line and mentlon‘shom monopolizing and protecting data' {an idea perhaps associated with the aforementioned intellectual
property rlghts} can be observedin certain business models. Thus, the discussion revolves around data/information and its place in the
market system. [Statement (5) mentions that despite the monopolization, "information is abundant". And this brings us to the description
in Statemenf(4 ) which portrays information differently - as a social good. Hence, although a bit discontiguous, 3-1-5-4 seems to talk

about the sérhe subject wl)'ile Statement (2) {on "Merchant Capitalism"} diverges from it. Therefore, (2) is the odd-one-out.
/
AN /
Question 2 3
\ /

Five jumbled up sentences related to a topic, are given below. Four of them can be put together to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your answer:

1. The victim’s trauma after assault rarely gets the attention that we lavish on the moment of damage that divided the survivor from a
less encumbered past. //

2. One thing we often do with narratives of sexual assault is sort their respective parties into different temporalities: it seems we are
interested in perpetrators’ futures and victims’ pasts. o
3. One result is that we don’t have much of a vocabulary for what happeﬁs in a victim §/l‘ fe after the painful past has been excavated,
even when our shared language gestures toward the future, as the terrﬁ urvivor doe )
4. Even the most charitable questions asked about the victims seem t¢ focus o the [?

suit of understanding or of

corroboration of painful details. / / ol
5. As more and more stories of sexual assault have been made publil: in the Iast/ o years, the genre of their telling has exploded ---
crimes have a tendency to become not just stories but genres. L7\ . {\ \ /) J
Answer:4 \\} 5
-
O
. _ & ‘\
© Video Solution ~
} ?
Explanation: O

The subject here is about the narratives of sexual assault and tr1\sub§eque/|)1’treatment of the victims. The paragraph begins with
Statement (5) which talks about sexual assault narratives turning into a genre. Statement (2) comments on a stark element within these
narratives: the general interest in perpetrators’ futures dnd victims’ pasts. Statement (3) delineates on the outcome of the latter: the
focus on a victim's past' and Statement (1) further addsit to this point. Although Statement (4) appears on a similar topic, we cannot place
it in the above arrangement since it diverges inte_the sub écLe‘Fas‘Rl'n/g’ questions to the survivors {an element that is yet to be discussed}.

Thus, (4) is the odd-one-out. N f"
L
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Question 3 \\\\_//;/

Five jumbled up sentences, related to a topic, are given below. Four of them can be put together to form a coherent paragraph. Identify

the odd one out and key in the n mber\of the sentence as your answer:
Ay SN
1. There is a dark side to academic résEarqh;e§pecially in India, and at its centre is the phenomenon of predatory journals.

2. But in truth, as long as you"-p'ay, U can QT énything published.

3. In look and feel thus, they are ex lx_li/k@any reputed journal.

4. They claim to be indexed in the mostinfluential databases, say they possess editorial boards that comprise top scientists and
researchers, and claim 1;6 have a rigorous peer-review structure.

5. But alarge sectiow{‘("r_gsearchers and scientists across the world are at the receiving end of nothing short of an academic

publishing scam. S

)
Y

Answer:5 )

. v

f

© Video Solution ,."';-;
\"\\ )//;"!

Explanation:

The given collection of statements focuses on predatory journals. The author begins by mentioning the subject {Statement 1} in a grim
tone. He highlights the kind of claims that these journals state: presence in 'influential databases', quality 'editorial boards' and a 'rigorous
peer-review structure' {Statement 4}. On the surface, 'they are exactly like any reputed journal' {Statement 3}. However, the ground reality
is starkly different: paying money allows you to publish anything in such predatory journal {Statement 2}. Hence, arrangement 1432 forms
a coherent paragraph with predatory journals as the centre of attention. '/’/

Statement 5 deviates from this subject. Although the topic seems to be abo tacademic publishing, the focus is no longer on predatory
journals, but instead, it becomes a bit broader. Since there is a mismatch/jn scope, we d‘i,sgéfﬁfﬁ'gatement 5 as the odd one out.

/ @
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Question 4 / {," / \\
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Five jumbled up sentences, related to a topic, are given below. Four of tﬁé@_éah\hg_r{gﬂégether to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your answer: TN 1 -

1. The legal status of resources mined in space remains ambiguous; and while\h market for asteroid minerals is currently
nonexistent, this is likely to change as technical hurdles diminish.q_'f‘-x,,m

2. Outer space is a commons, and all of it is open for exploration, hovs)'éve_'(;sp\ace law developed in the 1950s and 60s is state-centric
and arguably ill-suited to a commercial future. ) N

3. Laws adopted by the US and Luxembourg are first steps, Ifﬁiithgy only prl%ct firms from competing claims by their compatriots; a
Chinese company will not be bound by US law. “\_./ 4

4. Critics say the US is conferring rights that it has no authority to confer; Russia in particular has condemned this, citing the US’
disrespect for international law. \{‘

5. At issue now is commercial activity, as p?zqg_e firmsvather than nation states — look to space for profit.

O P
.,_H\\::\I\\ \ \.r:_ e d/
Answer:4 i
N~
\.\\_?
© Video Solution o
i 4
fif
Explanation: \ 7

A brief reading of the sentences suggestswr;{the para)g{;éph is about the inadequacy of laws about commercial activities in space in the
wake of rapid technological developments i ~ihgsamfyﬁeld. All sentences, other than 4, talk about this inadequacy or highlight why the
laws are inadequate. Option 4 is out of context here, as it talks about the US disrespecting international law. It does not relate to the

A
\\\ o
4 ~—
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Question 5 | | jr_l;
Five jumbled pWs, related to a topic, are given below. Four of them can be put together to form a coherent paragraph. Identify
the odd one Wn the number of the sentence as your answer:

1. The care with which philosophers examine arguments for and against forms of biotechnology makes this an excellent primer on
formulating and assessing moral arguments.

2. Although most people find at least some forms of genetic engineering disquieting, it is not easy to articulate why: what is wrong with
re-engineering our nature? y

3. Breakthroughs in genetics present us with the promise that we will soon be abie to prevent a host of debilitating diseases, and the
predicament that our newfound genetic knowledge may enable us to enhanceour genetic traits.

4. To grapple with the ethics of enhancement, we need to confront quest/n/at/hat erge Iogy, which is why modern philosophers
and political theorists tend to shrink from them. =

5. One argument is that the drive for human perfection through genetm{s i ﬁbjeql/onabﬂs |t %mresents a bid for mastery that fails to
appreciate the gifts of human powers and achievements. )\-/

?‘
\

Answer:1

N
© Video Solution \ T
\ ./

SN
Explanation: ~ ‘\
The sentences have been taken from Harvard's Justice, and have been modified considerably. Since a paragraph has not been directly
taken here, the better way of elimination here would be to evaZgit\ethe major p}bi%ts of each sentence and see which one runs tangent to

the discussion at hand. (During the examination, one must try bot m@z‘itci// ve: arranging and eliminating.)
1. Using the debate on biotechnology to evaluate moral arguments.\”“\j/

2. Why is bioengineering disputed? "{f\\

3. The promise of bioengineering. Q\z\}\\ \\:_:_:::7

4. Ethics of bioengineering based on theology. \Q‘ \

5. The theological argument. \‘\_7

£
We can see here that the last four sentenc$}s'/=t’ry to examine why bioengineering is disputed in spite of its huge potential. Then reasons

are given about the question on its ethicalfty’, and how it is closely associated with theology on the matter.

1 however runs tangential to the dlscussuj(n The main pd}zus is bioengineering while 1 aims to shift the focus and use the debate on the
matter as a stepping stone to reach another'go Iﬁevafuétlng/formulatlng moral arguments. Hence, 1 is the odd one out here.

Question 6

Five jumbled up sentences, relﬁf tQaiqplc are given below. Four of them can be put together to form a coherent paragraph. Identify
the odd one out and key in thé Num éf Gftbe sentence as your answer:

1. It has taken on a warm, fuiiy glow in the]advertlsmg world, where its potential is being widely discussed, and it is being claimed as
the undeniable wave of the future. | . //

2. There is little enthus}%sm for this in the scientific arena; for them marketing is not a science, and only a handful of studies have been
published in scientific (qurnals

3. The new, growing ﬁe!d\of neuromarketing attempts to reveal the inner workings of consumer behaviour and is an extension of the
study of how choices and declswns are made.

4. Some see neuromarketlng as\\h‘p attempt to make the "art" of advertising into a science, being used by marketing experts to back up
their proposalsmth some form of real data.

5. The mark yng gurus have already started drawing on psychology in developing tests and theories, and advertising people have

borrowed the ||dea of the focus group from social scientists.
i F
LN /ff
Answer:5 \\__'_“----_--»",..

© Video Solution

Explanation:
A brief reading of the sentences tells us that the paragraph must be about the mdust of neuromarketing, which is still in its embryonic

phase. 3 can be the opening sentence to the paragraph, as it introduces the topic at hand. All the other sentences need a sentence before
them that introduces what is being talked about.

— '\ \
1,4, and 2 then go on to talk about the opinion of differernt associated pprtl ';[Z/e rna ter. It taken the advertising industry by
storm. Others feel that this 'art' is being masked as a science, and many Ia S|asm\nt atter.
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5 however, does not fit in here. The reason is that it talks about psycﬁoloéo\ Whlé is dif(é\rent from the use of neural science. Even if one
is not familiar with the difference, we can see that it goes a step forward'to.talk fa out the %ppllcatlon of a science, whereas the paragraph
is mostly concerned with a growing science and how it is shaping publlc ommgn: H@ng/ﬁ is the odd one out.

.,\‘ )

CAT Previots: P@pers PDF

Question 7 . 7

Five jumbled up sentences, related to a topic, are given below Eour\of themf Jan be put together to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your answer:™ g

1. A typical example is Wikipedia, where the overwhelmlng majority of contrlbutors are male and so the available content is skewed to
reflect their interests. \ '

2. Without diversity of thought and representathn soclefy is left with a distorted picture of future options, which are likely to result in
augmenting existing inequalities. o \\\\ |

3. Gross gender inequality in the technology sector |§*p\3blemat|c not only for the industry-wide marginalisation of women, but
because technology designs embody the values of their maker§

4. While redressing unequal representation in.the workplace is a step in the right direction, broader social change is needed to address
the structural inequalities embedded wnhm the current organisation of work and employment.

5. If technology merely reflects the perspectlves of the m?ale stereotype, then new technologies are unlikely to accommodate the

diverse social contexts within which they oberate / ,

\ N A /
Answer:4 S
. . /’ZI/’ \;\‘\,,_
© Video Solution 4 \\\
o ?r"l | \ &
Explanation: { | |

A brief reading of the sentences sugge‘siﬂhat the paragraph must be about the disparity in the representation of different genders.

Sentences 1,2,3, and 5 are concerned with the problems that arise when the representation of females is less.
I |

4, however, runs tang{ﬁgo the discussion at hand. It talks about 'structural inequalities'. This sentence, if included in the paragraph,
would render it incomplete a&all the other sentences talk about gender inequality and not structural inequality. Thus, 4 is out of context

here. \ )
Question 8 /

Five jumble p sentences related to a topic, are given below. Four of them can be put together to form a coherent paragraph. Identify
the odd one\\out and key m'the number of the sentence as your answer:

1. They ofteninclude afoundatlon course on navigating capitalism with Chinese characteristics and have replaced typical cases from
US corporates wi cus on how Western theories apply to China’s buzzing local firms.

2. The best Chinese business schools look like their Western rivals but are now growing distinct in terms of what they teach and the
career boost they offer.

3. Western schools have enhanced their offerings with double degrees, popular with domestic and overseas students alike—and
boosted the prestige of their Chinese partners. /)

4. For students, a big draw is the chance to rub shoulders with captains of Chlna/s private sector.

5. Their business courses now largely cater to the growing demand from C/h]rfa Inc which has become more global, richer and ready to

recruit from this sinocentric student body. y = "‘(
J/i= | /" \
) M )
Answer:3 Y [ / \ \\ /
!’ /‘ " 4 ///-.,_\
=4
© Video Solution & / N
A ))
>

Explanation:
A brief reading of the sentences tells us that the paragraph is about Chinese buélness schools and how they stand in comparison to their
western counterparts. 2 mentions that thought they have a similar puLook Chinese business schools have a different curriculum and are
also different in what they have to offer. 1, 4, and 5 further talk about the pecullarlty of the Chinese schools.

3, however, runs tangent to the discussion. It shifts the focus from Chlnese sﬁm?)ls and describes western schools. Hence, 3 is out of the
context here. & SN

o e
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Question 9 2 _~..H

Five sentences related to a topic are glven below Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out.

[ /
1. Neuroscientists have just begun study‘ng exercise sd)ﬁ-{pact within brain cells — on the genes themselves.
2. Even there, in the roots of our biology, th\ékve found signs of the body's influence on the mind.
3. It turns out that moving our muscles produces pi pmtelns that travel through the bloodstream and into the brain, where they play
pivotal roles in the mechanisms of our highest thought processes.
4. In today's technology-driven, Iasma -screened-in world, it's easy to forget that we are born movers-animals, in fact — because we' ve
engineered movement right o,/trzf o lu(\es
5. It's only in the past few yeqrjs tha q{’ neuroﬁmentlsts have begun to describe these factors and how they work, and each new discovery
adds awe-inspiring depth to the pi ure ),

Answer:4 (7
!

N

S B,
D G

N
Explanation:
After reading'all the sentences, we know that the passage is about the study of the effect of exercise on the mind by the neuroscientists.
Statement 1 |ks the openingysentence as it introduces the main idea and suggests that neuroscientists have started studying the effect of
exercise on the mind. Sta;ément 2 discusses the findings of the study mentioned in statement 1. Statement 3 further elaborates the
finding and e)halamsihe réasons behind the effect of exercise on brain cells. Statement 5 is a conclusion sentence based on the study
mentioned in thej‘t“hree sentences mentioned earlier. Thus, 1235 forms a meaningful paragraph.
Statement 4 focuses on our ignorance of movements due to the widespread use of technology. Other four sentences are about the
relationship between exercise and brain cells. However, statement 4 is about a different topic. Therefore, statement 4 is an odd sentence
which does not fit in the paragraph.

Hence, 4 is the correct answer. e,

Free CAT Exam Prepérat' n ?Q«pp;\

# /g’ether to) rma meanlngful and coherent short paragraph.

Question 10 |

Five sentences related to a topic are given below. Four of them can bp p

Identify the ODD ONE out. Choose its number as your answer and key itin.
[

1) Translators are like bumblebees. & L\“\ /

2) Though long since scientifically disproved, this factoid is still routinely trotted out.

3) Similar pronouncements about the impossibility of translation have dogged practitioners since Leonardo Bruni’'s De interpretatione

recta, published in 1424. \\\

4) Bees, unaware of these deliberations, have continued to flit from roWer to.flower, and translators continue to translate.

5) In 1934, the French entomologist August Magnan pronou?ced the fllght\jfjthe bumblebee to be aerodynamically impossible.

Answer:2 &

{0\
© Video Solution N \ \\
O \

Explanation: N
On reading the sentences, we can infer that the authowraw}ag analogy between translators and bumblebees in the paragraph.

1 should be the opening sentence since it mIreHuces the fact that the paragraph is going to be about the similarities of translators and
bumblebees. After sentence 1, the author #hould have explained how they are analogous.

,7

5 states that the French entomologist Aug gnan prénounced the flight of bumblebees to be aerodynamically impossible. Sentence

3 talks about similar statements made abou nsiaf/ohs Sentence 4 should be the last sentence since it concludes by saying that both

translators and bees have continued their work unaware of these deliberations. Sentences 1534 can be put together into a coherent
aragraph. p—

paragrap —

iy
Sentence 2 does not add any {;Jaluab ,m\f\c?rrqanon to the topic of discussion. The author does not use the fact that the factoid
(impossibility of the flight of the bu plebee) ﬁas been disproved to support his argument. Sentence 2 should be the one out of context
and hence, 2 is the correct answer. \'\\_/,

—
&
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Question 11 il
f\\
Five sentences reIatecHo\a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.

-
Identify the odd one out. \\‘::}
1) Displaceméi'lf:in Bengal is thus not very significant in view of its magnitude.
2) A factor f’dlsplacement in Bengal is the shifting course of the Ganges leading to erosion of river banks.
3) The natuIe of dlsplacement in Bengal makes it an interesting case study.
4) Since dlsplgcgment d,tfe to erosion is well spread over a long period of time, it remains invisible.
5) Rapid dlspla\emeDtWOUId have helped sensitize the public to its human costs.

Answer:5

© Video Solution y.

Explanation: y -
On reading the sentences, we can infer that the paragraph revolves around the displacemient é% eople in Bengal due to erosion. 3 should
be the opening sentence since it introduces the topic of discussion - dlsblacjmen in B‘:Z;I 3 Eould be followed by sentence 2 since it
elaborates that the displacement is due to the shifting of the course of the ang and}heergs n. We have to decide the pair between 5,
4,and 1. 7

Sentence 4 is definitely a part of the paragraph since it fits well with Iﬁoﬁl’ﬁ e_se{’nénces \so it states an important detail - the
displacement is spread out over a period of time and hence, remains |nV|S|bIe d‘splacement is not rapid, its magnitude is not
significant. Sentences 4 and 1 form a pair and hence, sentence 5 is the one out\Qf ontext.
Question 12 ( .

T
Five sentences related to a topic are given below. Four of them can be puttOgether to form a meaningful and coherent short paragraph.
Identify the odd one out.

T~

O
1. Much has been recently discovered about the development 3f~s§pgs_@_bi;2ls.

2. Some species are restricted to a single song learned by all individueié,'.others have a range of songs.

/\

3. The most important auditory stimuli for t?g birds are the sounds of other birds.

4. For all bird species there is a prescribed path{o deye bmenfp.tth/e final song,

N g

5. A bird begins with the subsong, passes through plastic $on\g, until it achieves the species song.

>
Answer:3 ,f >
/ /
[/
© Video Solution (\ \. /'/7
\
Explanation: —

On reading the sentences, we can infer that the paragraph talks about the development of songs in birds.

1 should be the opening sente(ée S|r}ée"rt~Lnteruces the topic of discussion, the development of songs in birds. 1 provides a proper
introduction to the paragraph'by staflng tha§ )?mch has been discovered about the development of songs in birds.

\ \ /’ )

4 should be the sentence that follows- Lsmée it states that the development of songs in birds follow a template process.

5 explains the mechanrsfn in which the song is developed. Therefore, sentence 5 should follow sentence 4.
2 should be the last sentence since it states that some species restrict themselves to one song while other species have more than one
song. & S

.
Sentences 1452.form a cohere\n\t\paragraph Sentence 3 talks about the sounds of birds while the other sentences are about how a
species deve}b,p’s a song. Therefore, sentence 3 is the one out of context and hence, 3 is the right answer.
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Question 13 /
Five sentences related to a topic are given below. Four of them can be p togethe to f/ormﬁ’\Qeanmgful and coherent short paragraph.
Identify the odd one out. Choose its number as your answer and key the er i
1. Our smartphones can now track our diets, our biological cycles, eve’n o dlgr!t(lve ??slgns nd sleep-patterns.
msﬁa rought on by paying too much attention to
\

))

3. Sleep, nature’s soft nurse, is a blissful, untroubled state all too easﬂy d@b@%\hy_eérthly worries or a guilty conscience.

2. Researchers have even coined a new term, “orthosomnia”, to desqf'lb t
smartphones and sleep-tracking apps.

4. The existence of a market for such apps is unsurprising: shift work, a Iong-l}oy s culture and blue light from screens have conspired
to rob many of us of sufficient rest. O

5. A new threat to a good night's rest has emerged - smart-phones, wiih%féep;tracking apps.

C\\‘\ )
\:‘\-.__ ///

—

Answer:3

© Video Solution ‘,«"\\
\

R

Explanation: \\\ \ —

The use of the word "such apps" in 4 indicates that 4 (n\lr&\t be preceded by a line that mentions a type of app. We find this in 5 and 2. So
the pairs could be 5-4 or 2-4. If we see the sentences 5 aneL‘Hhey introduce the topic under discussion and provide context for the details
provided in 2 and 4. Hence, 1 and 5 should come at the start ofthe paragraph and 2-4 should be the end of the paragraph. Between 5 and
1, 5 provides a better opening line as it |ntrodu?:es the main topic of discussion. Hence, the order of the paragraph should be 5-1-2-4.

f/ 4
Sentence 3 which talks of "guilty consmertcé is out of co’n]text with the rest of the paragraph.
. 4/
Question 14 \\ y ///

Five sentences related to a topic are given below Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out.

.

o — ¥
1. As India looks to increase tﬁé/ numbemf cltles our urban planning must factor in potential natural disasters and work out
contingencies in advance. L/ / { 1
2. Authorities must revise data and\dpgradé infrastructure and mitigation plans even if their local area hasn't been visited by a natural
calamity yet. =
3. Extreme temperaturélg, droughts, and forest fires have more than doubled since 1980.
4. There is no denying'the fact that our baseline normal weather is changing.

5. Itis no longer a que‘éﬂonof whether we will be hit by nature's fury but rather when.

.\\j

Answer:3 Py
&
[
© Video Solution ‘,-"'_.-‘
\ y. 4
\
Explanation: ~

If we read all the sentences together, we see that the author is arguing for India preparing itself in advance for future natural disasters.
Sentence 4, which introduces the broader context makes for a good opening line. Sentences 1 and 2 together make the main point that
the author is trying make through the paragraph - that India should prepare itself for future natural disasters. Sentence 5 emphasizes the
main point by adding that natural disasters will occur in the future and thus makes fg,[ a good concluding line.

Sentence 3, that talks about extreme temperatures does not lead off to any of th,e/ot er sentences nor does it add to any of the other
sentences. Hence, it is the odd one. //

- ~

Additional Explanation: /£ ,/ Y

[ '

1-2 is a block, both are talking about things that authorities should do 4% are/rhet |cal o monst the author on the weather. 3 is a fact.
We use facts to draw reasonable conclusions. This standalone fact cahnocﬁe used to;:f \Afa/ny/conclusmn The style of the author's
writing in 4 and 5 are more opinionated than factual. So 3 is a misfit Mor er, W/e cannet make a connection between 1-4, 1 says we
need contingencies for natural disaster(suggestive) whereas, 4 says )wbe er IS{C anglnb)( hetorical).

7 O j

.‘\\7
& \\
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Question 15 \\\\ .

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out. Choose its number as your ar@yver and key it in.

1. Ocean plastic is problematic for a numbe{of\reasons ‘Put primarily because marine animals eat it.

2. The largest numerical proportion of ocean | &‘m—smalf’ﬁe fractions.

3. Aside from clogging up the digestive tracts of ~l|f§, plastic also tends to adsorb pollutants from the water column.

4. Plastic in the oceans is arguably one of the most impo‘rt(\t\and pervasive environmental problems today.

5. Eating plastic has a number of negative cgnsequences such-as the retention of plastic particles in the gut for longer periods than
normal food particles.

Answer:2 (,\ \

===
© Video Solution

\

Explanation: S/ S S
After reading all the sentences it can/be}fer{;é\‘zl that the passage talks about the impact of ocean plastic on marine organisms.

i I
Sentence 4 introduces the |mportan*t kznd png/aswe environmental problem of having plastic in the oceans.Hence it is the first sentence
of the passage. Sentence 1 gives the Leggoﬁ behind why ocean plastic is problematic, elucidating that marine animals eat it. Hence it
should follow sentence(4’ Sentence 5 gives the consequences of marine animals eating ocean plastic. Sentence 3 further elaborates

sentence 5 and f0||OW$\\lt

-"7
/ /

Hence the correct order ofs\gntgllces is 4-1-5-3. Sentence 2 does not fit in with the rest of the passage and is the correct option.
9
/*jf-f/ Top-500 Free CAT Questions (With Solutions)

Question 14 i

Five sentenc&\—l\elited}’(;'é topic are given below in a jumbled order. Four of them form a coherent and unified paragraph. Identify the
odd sentence that does not go with the four. Key in the number of the option that you choose.

1. Socrates told us that ‘the unexamined life is not worth living’ and that to ‘know thyself’ is the path to true wisdom

2. It suggests that you should adopt an ancient rhetorical method favored by the likes of Julius Caesar and known as ‘illeism’ - or
speaking about yourself in the third person.

3. Research has shown that people who are prone to rumination also often suffer ﬁ‘ ol
are at a substantially increased risk of depression. /.«-
4. Simple rumination - the process of churning your concerns around in your'’head
5. The idea is that this small change in perspective can clear your emotional fog,

impaired decision making under pressure and

is not the way to achieve self-realization.
Iowjn@‘y?@to see past your biases.
Fi \\

“ f
/ WA
Answer:1 ’,/ 4 /*\\:,j J
/ v e
// r '?‘"-\‘
. N f \
© Video Solution r///\\ \ {\ ) ,
. W
Explanation: N 3-«-/
After reading all the sentences, it can be reasonably inferred that the passage talks'about how rumination is not the way to achieve-self

realization, but another method favored by Caesar, 'illeism' would h/érpa person see past his biases.

Sentence 4 introduces the idea of rumination. Hence this sentence Would serve as the introductory sentence. Sentence 3 follows
sentence 4 because it indicates the results of the research done on rumlnatli . gentence 2 would be the next logical progression, since it
puts forth an alternative to rumination, known as illeism. Sentenceﬂz and se gnce 5 would form a block as sentence 5 explains the
consequences of adopting the ancient method of illeism, mentionedi in senteﬁce 2.

4-3-2-5 would be the correct ordering of the sentences. Sentence 1 does not fit in with the passage and hence, it is the correct answer.

\

Question 17 /‘ - \

Sy \ __—=7
Five sentences related to a topic are given below in a jurhbledorcfer Four of them form a coherent and unified paragraph. Identify the
odd sentence that does not go with the four. Key in the: numhgr of the option that you choose.
1. ‘Stat’ signaled something measurable, while ‘matic’ advertised free labour; but ‘tron’, above all, indicated control.
2. It was a totem of high modernism, the in_té]]?ectual and cultural mode that decreed no process or phenomenon was too complex to be
grasped, managed and optimized. ,",
3. Like the heraldic shields of ancient knlghts these moﬂ?hemes were painted onto the names of scientific technologies to proclaim
one’s history and achievements to friend enemles/ alike.
4. The historian Robert Proctor at Stanford |\rer31tyc/alls the suffix ‘-tron’, along with ‘-matic’ and ‘-stat’, embodied symbols.
5. To gain the suffix was to acquire a proud and optimistic emblem of the electronic and atomic age.
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Answer:2 ﬁ/ f\\ .
/ I’ =~
CJ
’/

Explanation: ;’7

Option 4 and option 5 are related as both statement start with a suffix.
While option 3 is a CC‘)\M-LQEQIOI’I of the idea in option 3

.

Option 5 says that the suffix s‘igﬁl\fjes pride, while option 3 elaborates on this and explains how it is displayed as pride to friends and
families alike. bf}gnce 53 is a logical block.

Among all tffé’étatements 4 is the only one which doesn't have a pronoun or a tone indicating the presence of a preceding statement.
While 4 opellq\é the statemeh{ it must be succeeded by 1 as the terms cannot be explained at the end.

The logical co\her\ﬂls para jumble is 4(Introduction of terms)-1(Explanation of terms)-5(Consequence of terms(Pride))-
3(Elaboration of consequence)

Statement 2 speaks about modernism and that every phenomenon can be easily grasped. It is unrelated to the context of the passage
and a misfit.

Hence, option 2 is the odd one out

Question 18

Five sentences related to a topic are given below. Four of them can be pu/t togeth to fd/r : eaningful and coherent short paragraph.
Identify the odd one out.
Choose its number as your answer and key it in.

erican

1. His idea to use sign language was not a compl etely new idea as N t|v

ed h/nd gestures to communicate with other

tribes. / /‘ N
2. Ancient Greek philosopher Aristotle, for example, observed that rﬁ o are deaf are incapable of speech.
3. People who were born deaf were denied the right to sign a will as theyk /ed to understand nothing; because it is not

possible that they have been able to learn to read or write.”

4. Pushback against this prejudice began in the 16th century whezPedro Poncede Ledn created a formal sign language for the hearing
impaired. ~ \

5. For millennia, people with hearing impairments encountered marglnahlﬁ because it was believed that language could only be

learned by hearing the spoken word. y
\J

Answer:2

Explanation:

Statement 34 makes a logical block as statement 4 spea \\(t;o% t "this prejudice" against deaf people. While statement 3 highlights the
prejudice by saying that they were conS|dered to be dumb t allowed to sign a will.

origin of the sign language. ( n

\
Statement 5 is a good opening statement s\t{ltroduce/ the idea of discrimination against deaf and this idea is continued by an
example in statement 3. Hence these statem‘ents‘canb’e arranged in the order 5341.

The idea of sign language is continued in Zlafement 1 where the pronoun "he" refers to pedro and the statement discusses about the

Statement 2 is a good standalone opening statement. Yet, this statement cannot be succeeded by any of the other statements as it is a
misfit in the paragraph.

Hence statement 2 is the odd| cfne o] N\ ;;\;

" 4 Free CAT Study Material
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Question 19 \\:___7,./'

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out. Choose its number as your answer and key it in.

1. One argument is that actors that do not fit within a single, well-defined category may suffer an “illegitimacy discount”.

2. Others believe that complex identities confuse audiences about an organizatign‘e role or purpose.

3. Some organizations have complex and multidimensional identities that sp;n or combine categories, while other organizations
possess narrow identities. y J—

4. Identity is one of the most important features of organizations, but thére exist ppoﬁ‘ g views among sociologists about how
identity affects organizational performance. / aj ("‘

5. Those who think that complex identities are beneficial point to the $tra glc

vant? zlnbiguity, and organizations’ potential to

differentiate themselves from competitors. /
// ,"?"’ N
Answer:1 S | ))
: “ R \{X\H_ ) //// ;
= S*
© Video Solution \\}
Explanation: Vo

b

Statement 1 says that actors who do not fit within a certain category such as "humour”, "action" etc will face certain difficulty
O
Statement 2 has a negative tone. It starts with "others" mdmahhgﬂraj; the pje eding statement is likely to have a positive tone.

Statement 4 is a good opening statement as it sets the agenda for the passage by saying that there are opposing views with regard to
effects of identities in organisations.

\ (\
Statement 5 is a favourable view to complex('\\ ities, a\b()sitivgggn% Hence 52 is a logical block.
~ e
~ \ —

Statement 3 cannot open the paragraph as the sueii‘ee i r"o‘t'e?u_e.ment 4 will be disconnected to the central idea of statement 1.
Statement 3 can neither be a conclusion as it is too genene\Hence statement 3 can logically occur only after statement 4 and before the
logical block 52.

£
4 - Idea of organisational identity introducec';/
3 - One of the features of organisational idehtities explalned
52 - Two opposing views expressed W\ //

Statement 1 is unrelated to organisational |den11tLa§4t’speaks about stereotyping the actors.
Hence statement 1 is odd one out

P

Question 20 S B

,‘H / / \\
Five jumbled up sentences, reIJated a topi Q,@re given below. Four of them can be put together to form a coherent paragraph. Identify
the odd one out and key in the numg(;r of t 4 sentence as your answer:

\ \//

1. For feminists, the question of how we read is inextricably linked with the question of what we read.
2. Elaine Showalter’s c'rlthue of the literary curriculum is exemplary of this work.
3. Androcentric Ilteratu\estructures the reading experience differently depending on the gender of the reader.
4. The documentation of thlsTeajlzatlon was one of the earliest tasks undertaken by feminist critics.
5. More specifically, the femln\stmquwy into the activity of reading begins with the realization that the literary canon is androcentric,
and that this pa;a profoundly damaging effect on women readers.

(f
Answer:3 |\ \ /]
Y y
A/
© Video Solution
Explanation:

The passage is focused on delineating the mechanism of reading as perceived by feminists (and the criticism associated with it). The
arrangement (1)-(5)-(4)-(2) forms a coherent paragraph and Statement (3) stands ouflike a sore thumb. While the passage describes the
elements associated with a feminist perspective, (3) brings in a description of androdentric literature that does not align with the context.

// { & CQ\
gy ()
/ V = /
A
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Question 21 - -T“’/

Five jumbled up sentences, related to a topic, are given below. Four of them carrb)e put together to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your anéﬁér:\

~ S
1. Talk was the most common way for enslaved men and women to subverﬁthe7 rules of their bondage, to gain more agency than they
were supposed to have. <\“\\ /
2. Even in conditions of extreme violence and unfreedom, their wordﬂemémed ubiquitous, ephemeral, irrepressible, and potentially
transgressive.
3. Slaves came from societies in which oaths, oratlons and invocations carried great potency, both between people and as a
connection to the all-powerful spirit world. (\ \ \
4. Freedom of speech and the power to sﬂencemhy\havg been‘prgerﬁment markers of white liberty in Colonies, but at the same time,
slavery depended on dialogue: slaves could never beqoleetely muted.
5. Slave-owners obsessed over slave talk, though they coula‘never control it, yet feared its power to bind and inspire—for, as everyone
knew, oaths, whispers, and secret conversati /o>ns bred conspiracy and revolt.

Answer:3 '." 9
A 4/
\ \ ’._///
© Video Solution Q S
Explanation: P

Statements (1), (2), (4) and (5) ﬁ:;scuss Ihg aspect of how talking/freedom of speech was a significant facet associated with the slaves.
They emphasise how this elemlent was centr@l to slavery { "slaves could never be completely muted"}. Contrarily, Statment (3) goes on a
tangential route that associates the p;otenc;) 5bf 'oaths, orations, and invocations" based on the origin of the slaves {discusses "...a

connection to the all-powerful sp/r/t‘v_l_)a/:/d _j’ “which is clearly out of place}. Thus, Statement (3) is the odd-one-out here.

Free CAT Preparation Video Lectures
Question 22 ,:“*

Five jumbled uﬁ,sentences related to a topic, are given below. Four of them can be put together to form a coherent paragraph. Identify
the odd one /out and key in the number of the sentence as your answer:

1. Machine |darn|ng modelSjare prone to learning human-like biases from the training data that feeds these algorithms.

2. Hate speéch detectlon,ls' part of the on-going effort against oppressive and abusive language on social media.

3. The curren}“automatl,c detection models miss out on something vital: context.

4. lt uses complex algorlthms to flag racist or violent speech faster and better than human beings alone.

5. For instance, algorithms struggle to determine if group identifiers like "gay" or "black" are used in offensive or prejudiced ways
because they're trained on imbalanced datasets with unusually high rates of hate speech.

Answer:3 i

© Video Solution // ,'/7\

Explanation: W\ / /

On reading the statements, the arrangement (2)-(4)-(1)-(5) can be Imkeﬂt rm a paraé aph/wﬁlle Statement (3) stands out. Statements
(2) and (4) talk about hate speech detection and the algorithms mvoIv,ed W ile S];a‘['eme {s (1) and (5) indicate the issue associated with
the aforementioned algorithms. Hence, (3) is the odd one out.

Question 23 B &Lt\"\\ . fi'

Five jumbled up sentences, related to a topic, are given below. Four of them can be put together to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your anngen

1. The logic of displaying one’s inner qualities through outward appearan was based on a distinction between being a woman and
being feminine.

2. 'Appearance’ became a signifier of conduct - to look was tbbe\amd confo)ry‘nty to the feminine ideal was measured by how well
women could use the tools of the fashion and beauty industries.~_> >~

3. The makeover-centric media sets out subtly and not-so-subtly, ‘good"™ and ‘bad’ ways to be a woman, layering these over inequalities
of race and class. A

4. The denigration of working-class women anii womeh \Qf colour often centres on their perceived failure to embody feminine beauty.
5. 'Woman’ was considered a biological categoq,htyemunyw_@g?a process’ by which women became specific kinds of women.

\\.‘r

Answer:3 \\\
T~
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Explanation: A
Statement (1) talks about how the "logic" ofrle“termmmg a woman's inner quality boiled down to the distinction between the perception
of "being a woman and being feminine". Statemenf(S) highlights the difference in this understanding: the former being a 'biological
category' and latter being a ‘process'. Statement (2) continues on the manner in which the measure of "feminine ideal" was dependent on
awoman's appearance. Statenjefht‘(A-)T'continues on this line by presenting how the incapacity to meet up to this ideal led to the
denigration of working-class \{J_o"men‘.-ér'ia‘wbmgn of colour. We notice that Statement (3) is the odd one out here.

i \
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